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Correct Option selected Wrong Option selected or Not Answered Correct Option

Q.No: 1 Basic instruments used in the household are knownas _.
Domestic devices

Turbines

Boilers

Transformers

Q.No: 2 Two hot wires that are connected by a single neutral wire is. -

Couple breaker
Octuple breaker
Septuple breaker

Quadruple breaker

Q.No: 3 What is the flow of electrons from one place to another is?
Electricity

Current

Flux

Power

Q.No: 4 Does smart distribution grid saves energy?
No, it does not save energy

Energy is produced in excess

Partially, it saves the energy depending on conditions

Yes, it saves energy

Q.No: 5 What kind of an output is produced by an Alternator?

90% DC & 10% AC
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Q.No: 6 The process of using heat and solder to join copper pipe and fittings to one another is called . afe & urgy 3R T At g gER @ Site & g die oik Hies o1 I &t &t ufshar &t
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Air conditioner
Television

Washing machine

Q.No: 8 Why do we need any calibrated instrument to verify the equipment?
To reduce pollution due to testing

To reduce the raise in temperature due to testing

To reduce measurement uncertainty

To reduce testing cost

Q.No: 9 Based on the electron theory, the flow of electrons will travel from?
Negative polarity to the negative polarity of a voltage source

Positive polarity to the negative polarity of a voltage source

Negative polarity to the positive polarity of a voltage source

Positive polarity to the positive polarity of a voltage source

Q.No: 10 Flowing of electrons produces ____.
Electric field

Current

Magnetic field

Di-electric medium

From the given symbol identify the respective device:

Q.No: 11

Spark gap
Circuit breaker
Thermostat

Fuse

Q.No: 12 If the side of the square is 4 cm then find the area of the square.(in cm?)

4
2
16

20

Q.No: 13
60°
40°
30°

50°

Given symbol represents

Q.No: 14

Position

Angularity

The output voltage of an inverter is controlled by a multiple-pulse modulation technique. If the peak value of
reference voltage is 4V and the peak value of carrier voltage is 6V, then the total pulse width in each half cycle is:
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Cylindricity

Circularity

Q.No: 15
system.

Copper stray loss
Core stray load loss
Core loss

Variable loss

Q.No: 16 What is the Sl unit of Force?
Watt

Newton

Joule

Ampere

Q.No: 17 How are electric and magnetic forces similar?
They follow the same path

Have the same circuit diagram

Have same construction

Both forces’ existence is based on two types of particles

What does the symbol give below signify?

Q.No: 18

Thunder
High voltage
Cold

Overhead crane

A battery of 10 volts carries 20,000 C of charge through a resistance of 20 Q. The work done in 10

Q.No: 19 seconds is?
2 x 10° joule
2 » 10%joule

2 % 10% joule

2 = 102 joule

Q.No: 20 Which of the following statement is the advantage of illumination?

Reduces eye fatigue and headache
Reduces tongue fatigue and throat ache

Red face fatigue and headach

Reduces liver fatigue and body ache

Q.No: 21 What type of error is found in calibration?
Syntax error

Instrument error

Gross errors

Systematic error

Name the loss that occurs due to the rotation of the armature core in the magnetic flux produced by the field
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Q.No: 22 Device which has one hot and one neutral wire is

Triple pole breaker
Quadruple breaker
Single pole breaker

Double pole breaker

Q.No: 23 In which type of alternator voltage can be produced by rotating both the stator as well as rotor?
Radio alternators

Automotive alternators

Brushless alternators

Marine alternators

Q.No: 24 What is the position of the pointer in a megger when it is not in use?
Middle

Infinity

Anywhere on the scale

Zero

Q.No: 25 From the following options which can be used as a center line?
Extension line

Dimension line

Leader line

Section line

QNo: 26 An electrician was working on an electric circuit. He uses a conduction test to determine if the connection were
appropriate. He found that the bulb begins to glow. The object used to test the conduction of the circuit was?

Wood

Insulator

Conductor

Plastic

Given symbol represents

Q.No: 27

Total runout
Target
Slope

Symmetry

Q.No: 28 What is the S. | unit of energy?
Watt

Newton

Joule

Pascal

Q.No: 29 Which device is used to detect the fault in the inverter?

Wattmeter
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Ammeter
Voltmeter

Photometer

Q.No: 30 According to the I. E. rules, what should be the maximum value of the leakage current in an installation?

1/1000 of the full load current of the installation
1/5000 of the full load current of the installation
1/15000f the full load current of the installation

1/5000f the full load current of the installation

Q.No: 31 An example for a smart grid is

Solar panel
Nuclear power plant
Bio-gas power plant

Thermal power plant

Q.No: 32 What is function of DC machine?

To convert mechanical energy into electrical energy
To convert nuclear energy into electrical energy

To convert solar energy into electrical energy

To convert wind energy into electrical energy

Q.No: 33 How many amps are ina 1 KV?
500 v/amps
250 v/amps
750 v/amps

1000 v/amps

Q.No: 34 The temperature for earthing should not exceed more than

180°C
120°C
160°C

60°C

Q.No: 35 Which among the following is not a type of grounding?

Reci. 1ad

gre Y

Plate earthing systems
Solidly grounded systems

Ungrounded systems

From the given diagram below identify the respective shape given.

Q.No: 36

Cylinder
Torus
Ellipsoid

Hemisphere
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Q.No: 37 The illuminance level of a 100 W bulb will not vary with
Increasing filament temperature

Increasing glass shell diameter

Increasing glass shell length

Increasing the supply voltage

Q.No: 38 Which wire is used for winding?
Fuse wire

Magnet wire

Tinsel wire

Stranded wire

Q.No: 39 Why is the maintenance of domestic appliances necessary?
Helps them to get high current

Helps them to get high voltage

Helps them to live longer

Helps them to receive more power

Q.No: 40 What happens when an alternator is said to be over-excited?
Leading power factor

Lagging power factor

Unity power factor

Negative power factor

Q-No: 41 established?

Intervention
Research
Theory

Demonstration

Q.No: 42 The unit of the luminous flux is
lumen

lux/m

lux

candela/m

Q.No: 43 If a 12-pole alternator is to generate a 50 Hz output, it should be rotated at .

1000 rpm
1500 rpm
600 rpm

1200 rpm

Q.No: 44 What kind of circuit is mostly used in home?
Series circuit

Open circuit

Short circuit

Parallel circuit

Q.No: 45 Which of the following is a part of resistance welding?

When a close relationship between the growth of thinking and the development of mathematical concepts is
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Spot welding
Atomic hydrogen arc welding
Helium welding

Arc welding

Q.No: 46 With respect to electrical, What is the Full form of MCB ?
Mitochondria bound

Miniature circuit breaker

Main central board

Mini coal bar

Q.No: 47 Evaluate the expression 9 +6 x32=__ 7

184
201
196
225

Q.No: 48 Which of the following sentence regarding lap windings is incorrect?
Used for machines having low voltage and high current capacity.

There are only two parallel paths for the current.

Number of parallel paths in wave windings = Number of poles x plex of the winding

The number of brush positions is equal to the number of poles.

Q.No: 49 The best type of earthing is
Grounding

Pipe earthing

Plate earthing

Strip earthing

Q.No: 50 The tool used for the performance testis ____.
Voltmeter

Megger

Ammeter

J-meter

Q.No: 51 Frequency and voltage can be controlled by ______.
Inverter and ac voltage controller

Cyclo-converter and ac voltage controller

Inverter and cyclo-controller

Inverter, cycle-converter and ac voltage controller

Q.No: 52 Which among the following cannot be measured by using Analog meters?
Pressure

Frequency

Current

Resistance
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Q.No: 53 Before an alternator can be connected to an infinite bus, which of the following must be the same for the o 2 ol 7 3 S : S o5 i ol 5 3 oy YT A @ .

alternator and the infinite bus?
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Only phase sequence

Only voltage

Voltage, freq
zero

y and phase

| ; and the phase difference between the alternator and infinite voltages must be

Q.No: 54 Why do we use overhead transmission lines?
To store power

To transmit power

To destroy power

To generate power

Q.No: 55 Why should an electrician wear rubber gloves while repairing an electrical switch?
To clean the switch

To avoid slipping of materials

To handle the devices easily

To avoid electric shock

Q.No: 56 Consider two alternators running in parallel. Now if the excitation of the one of the alternators is changed, then:
Speed will reduce

Frequency will change

Load demand will change

Power factor will change

Q.No: 57 Which type of welding can be employed for the welding of stainless steel with thinner gauges?
Gas metal arc welding

Butt welding

Resistance heating

Helium welding

Q.No: 58 Which symbol is used to represent alternate current Supply?

Lad

4

Q.No: 59 Which of the following requires a minimum light level?
Railway platform

Tools

Displays

Auditorium

Q.No: 60 What is used to maintain low resistance for earth fault currents?
Charcoal

Zinc

Manganese

Gallium

Q.No: 61 Mathematics is accepted as a branch of.
Analysis

Arithmetic
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Logic

Algebra

Q.No: 62 SOP stands for
Safety Operation Procedure
Safety Operation Practice
Standard Operating Procedure

Standard Operating Practice

Q.No: 63 The shape of the voltage waveform generated by a coil rotating in a magnetic field is called a

Sine Wave
Cosine Wave
Tangent Wave

Reversal wave

Q.No: 64 The pulse width modulation control technique in inverters is used for:
Harmonic reduction

Voltage control

Voltage control and harmonic reduction

Frequency control

Q.No: 65 Which of the following is the importance of a wiring system?
Provide proper control

Reduces overheating

Provides high voltage

Reduces power dissipation

.No: 66
Q following conditions will all the three lamps darken and brighten in step?

Frequencies are not the same, but voltages and phase sequences are the same.
Phase is not the same, but voltage, frequency and phase sequence are the same.
Voltages are not the same, but frequency and phase sequence are the same.

Phase sequences are not the same, but voltages and frequencies are the same.

From the given shape below identify the respective shape given below:

Q.No: 67

Parallel-piped
Cube
Trapezium

Cuboid

Q.No: 68 The alternators in a generating station are connected in
Star

Star delta

Delta

Double star

Q.No: 69 When was Aryabhatt, the great Indian mathematician, born?

The three-lamp synchronization method is used to synchronize an alternator with an infinite bus. In which of the
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500AD
600AD
476AD

495AD

Q.No: 70 The device used to measure the speed of a rotating shaft is
Ammeter

Speedometer

Tachometer

Potentiometer

Q.No: 71 What kind of power is transmitted in the over-head power lines?
AC

High current

High voltage

DC

Q.No: 72 How many switches are used in a single-phase, full-bridge voltage source DC/AC converter?

6
2

Q.No: 73 What is the main purpose of Earthing?
To avoid short circuits

To prevent the breakdown in voltage

To protect from electric shock

To avoid open circuit

Q.No: 74 The average power of a spherical candle of a lamp is 25, then the total luminous flux of the lamp is?

625 lumens
25 7w lumens
25 lumens

314 lumens

Q.No: 75 The method in which the effect of armature reaction is more is called .

Armature resistance control
Same in both methods
Field weakening method

Cannot be determined

.No: 76
Q 2024?

Kotak Life Insurance
Birla Sun Life Insurance
Star Health insurance

Bajaj Allianz General Insurance

Q.No: 77 In which year did Mahatma Gandhi return to India from South Africa?

1912

Which of the following insurance company launched India’s first health insurance policy in Braille in September
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1913
1914

1915

Q.No: 78 Who out of the following is the longest-serving chief minister of Madhya Pradesh?
Babulal Gaur

Shivraj Singh Chouhan

Mohan Yadav

Digvijay Singh

Q.No: 79 Which of the following is the name of the suite of Al tools unveiled by Reliance in August 2024?

1913
1914

1915
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Q.No: 80 Who has been named as the new Ambassador of India to Myanmar in March 2024?
Syed Akbaruddin

Jatin tiwari

Vinay Saxena

Abhay Thakur

QNo: 81 Ministry of defence has signed a contract with to supply 240 AL-31FP engines for Su-30MKI fighter jets with
which of the following aerospace company in September 2024?

Bharat Dynamics

Bharat Heavy Electricals Limited

Hindustan Aeronautics Limited

Bharat Forge

Q.No: 82 CHCl3 1s known as —

Bleach
Gypsum
Chloroform

Benzene

Q.No: 83 Which law of Newton defines the 'force?
Newton's third law of motion

Newton's first law of motion

Newton's second law of motion

Newton's law of gravitation

Q.No: 84 Which of the following is a natural polymer?
Starch

Nylon

Bakelite

Polythene

Q.No: 85 Which storage device has a higher storage capacity: a CD or a DVD?

Both are the same
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None of the given options
DVD
cD

Q.No: 86 Which feature in Microsoft Excel 2010 is used for performing mathematical calculations?

Formulas
Clip art
WordArt

AutoShapes

Q.No: 87 What is the primary function of an ISP (Internet Service Provider)?

To manage email communication

To host websites and web ion

To provide hardware components for computers

To connect users to the internet

Q.No: 88 Which keyboard shortcut is commonly used to undo the last action in Microsoft Word?
Ctrl+Z
Ctrl+V
Ctri+C

Ctrl +X

Q.No: 89 Which of the following input device is commonly used for drawing or graphic design?
Printer

Graphics Tablet

Scanner

Keyboard

Q.No: 90 What is the main function of a keyboard?
To display images

To input text and commands

To process data

To store data

Find the missing term in the following series.
Q.No: 91
10,14,19,25,32,?

26
31
41
18
Choose one of the possibilities to represent the next figure in the series.
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Q.No: 94

6400
6600
7400

8400

Q.No: 95

Q.No: 96
15764
17654
15476
17653

Q.No: 97

18 years
24 years
14 years

12 years

Q.No: 98

Rs. 1565
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Find the next term of the given series

ABDGKP?

Find the missing number in a series given below:

25,100, 400, 1600, ?

When letters of the word MANAGEMENT are arranged in reverse alphabetical order from left to right then how
many vowels are there between T and the last letter from the right end in the word formed?

If RAYMOND is written as 2795431 and OLD is coded as 461, how will DALMO be written?

Sunny is three times as old as his friend. 2 years ago he was five times as old as his friend. What is present age
of Sunny?

A product is listed for Rs. 1620 in the market. If the product is marked up at 66.67% and the profit percentage
earned on selling it is 37.5%, then what is the selling price of the product?

Rs. 1336.50

Rs. 1452

Rs. 1425.5
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If there are 35% women in the Indian Army and the total number of soldiers is 1200000, then what will be the total

Q.No: 99 number of men in the Indian Army? IR IR A1 § 35% Al § Sk et e & Feam 1200000 g, dt TR &1 8 g
800000 800000
600000 600000
780000 780000
650000 650000

A sum of money is invested at compound interest payable annually. The interest in two successive years is Rs

.No: 1 LRI anfies 3 Tehqfeg; samet or fAder &y | TR &t aut & sa1eT 22 aff
QNo:100 225 and Rs 240. Find the principal amount. w = ot & Al Sed
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Rs. 3600 3600 U
Rs. 3415 3415 F0d
Rs. 3375 3375 F0d

Rs. 3540 3540 wUd



